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MEC–004 : ECONOMICS OF GROWTH AND 

DEVELOPMENT 

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from both Sections as 

per instructions. 

Section–A 

Note : Answer any two questions from this 

Section in about 500 words each. 

    2×20=40 

1. What is meant by Total Factor Productivity 

(TFP) ? Discuss the approaches to measure 

it.      



 [ 2 ] MEC-004  

B–1131/MEC–004 

2. Bring out the salient features of the Harrod-

Domar model. What is the razor-edge 

problem in this context ?  

3. “Economic development is not the same as 

economic growth.” Explain. Discuss how 

economic development can be measured.   

4. Critically examine the investment criteria in 

developing countries. 

Section–B 

Note : Answer any five questions from this 

Section in about 250 words each. 

    5×12=60 

5. Explain the Harris-Todaro model and 

examine its relevance in developing 

countries these days.  

6. What is meant by market failure ? What are 

the reasons for market failure ?  

7. Discuss the concepts of ‘organic composition 

of capital’, ‘surplus value’ and ‘declining rate 

of profit’ in the Marxian theory of 

development.  
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8. Discuss the Prebisch-Singer model of terms 

of trade of developing countries. 

9. Give a brief note on two-sector growth 

models of an economy. 

10. Bring out the relationship between 

population, poverty and environment. 

11. Evaluate the contribution of Malthus to the 

theory of economic development. 

12. Write short notes on the following : 

 (i) ‘Big Push’ theory of economic 

development 

 (ii) Importance of economic growth 
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,e- ,- (vFkZ'kkL=) (,e- bZ- lh-) 

l=kar ijh{kk  

twu] 2025 

,e- bZ- lh-&004 % lao`f¼ vkSj fodkl dk vFkZ'kkL= 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % nksuksa Hkkxksa ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

Hkkx&d 

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj yxHkx 500 'kCnksa 

(izR;sd) esa fyf[k,A  2×20=40 

1- ldy dkjd mRikndrk (TFP) dk D;k vFkZ gS \ blds 

ekiu ds izfr n`f"Vdks.kksa ij ppkZ dhft,A  

2- gSjksM&Mksej izfreku ds eq[; vfHky{k.k Li"V dhft,A 

bl lUnHkZ esa ^[kkaMs dh /kkj* dh leL;k D;k gS \  
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3- ßvkfFkZd fodkl vkfFkZd lao`f¼ gh ugha gSAÞ O;k[;k 

dhft,A ppkZ dhft, fd vkfFkZd fodkl dk ekiu fdl 

izdkj fd;k tk ldrk gSA  

4- fodkl'khy ns'kksa ds fy, fuos'k dh dlkSVh dh 

vkykspukRed leh{kk dhft,A 

Hkkx&[k 

uksV % bl Hkkx ls fdUgha ik¡p iz'uksa ds mÙkj yxHkx 250 'kCnksa 

(izR;sd) eas fyf[k,A  5×12=60 

5- gSfjl&VksMkjks izfreku dh O;k[;k dhft, vkSj vktdy ds 

fodkl'khy ns'kksa ds fy, bldh izklkafxdrk dks le>kb,A  

6- cktkj dh foQyrk dk D;k vFkZ gS \ blds D;k dkj.k 

gksrs gSa \    

7- ^iw¡th dh tSfod jpuk*] ^ewY; vfrjsd* vkSj ^Îkleku 

ykHk* dh ladYiukvksa dh ekDlZoknh fodkl fl¼kUr ds 

lUnHkZ esa ppkZ dhft,A  
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8- fodkl'khy ns'kksa dh O;kikj dh 'krks± fo"k;d 

izsfo'd&flaxj izfreku ij ppkZ dhft,A 

9- ,d vFkZO;oLFkk ds f}{ks=dh; lao`f¼ izfrekuksa ij ,d 

laf{kIr fVIi.kh fyf[k,A 

10- tula[;k] xjhch vkSj i;kZoj.k ds chp lEcU/k dk 

fu:i.k dhft,A 

11- vkfFkZd fodkl ds fl¼kUr esa ekYFkl ds ;ksxnku dh 

leh{kk dhft,A 

12- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) vkfFkZd fodkl dk ^egrh iz;kl* fl¼kUr 

(ii) vkfFkZd lao`f¼ dk egRo 

× × × × × 

 

 

 

 


